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Math Il sing Parent Graphs and Transformations

For the problems below, state what parent function it is built from, state transformations that are taking place,
sketch each step in different colors and check your final solutions on a graphing calculator.
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f(x)=-3x-4/+9
Parent Function:

S(x)': lx\ quO\\Ae \)G\"(.

Parent with multiplier and what it means:,, ,,
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Parent with multiplier and shifts and what it means:
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f(x)=— Xx+8 2

Parent Function:

§()=Tx" Squak root
Parent with multiplier and what it means:
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Parent with multiplier and shifts and what it means:
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(" f(x)==5(x=5)
Parent Function:

S6)=(x)°  cubic

Parent with multiplier and what it means:

i 3 mo 'y vaes by
Se0=-0.6x e SY

Parent with multiplier and shifts and what it means:
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Parent Function: - R EE
Uiyenl? quadmhc SN
Parent with multiplier and what it means: : l | : '
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Parent with multiplier and shifts and what it means: [ EE\/E
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(f(x)=2€/):—3

Parent Function:

F09=3)x"
.SOO:Z; I\ by2.

Parent with multiplier and shifts and what it means:
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(f(x)=2|x+6|—6
Parent Function:

Jx)z x| chsolote value
Parent with multiplier and what it means:Au i% l
|y woltal y values

Parent with multiplier and shifts and what it means:
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